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(a+b)(c+d)=acH+ad+bc+bd
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(x—3)y+5)=xy+5x—3y—15
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(1) (a+b)(c—d)=ac—ad+bc—bd
(2) (a—b)(c—d)=ac—ad—bc+bd
(3) (x+2){(y+3)=xy+3x+2y+6
(4) (x—1){y+4)=xy+4x—yv—4
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(x—4)(x—7)=x2—7x—4x+28 ZDFEFITo VBN A
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=x2—11x+28
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(1) (x—2)(x—6)=x2—6x—2x+12=x2—8x+12
(2) (x—4)(x+5)=x2+5x—4x—20=x2+x—20
(3) (2a+1)(at+4)=2a2+8a+tat+td4=2a2+9a+4

(4) (3x+5)(4x—7)=12x2—21x+20x—35=12x2—x—35
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(3a+2b)(2a—b) M E D> THR0 FIZFE T
=6a?2—3ab+4ab—2b?2

=6a?+ab—2Db?2
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(1) (3a+2b)(2a+3b)=6a2+9ab+4ab+6Db?2
=6a2+13ab+6Db?2
(2) (9a—2b)(5a+6b)=45a2+54ab—10ab—12b?2

=45a2+44ab—12b¢2
(3) (7x+4y)(x—5y)=7x2—35xy+4xy—20y?2

=7x2—-—31xy—20y?2

(4) (2x—3y)(8x—y)=16x2—2xy—24xy+3y?

=16x2—26xy+3y?2
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(3x—y) (4x+3y—2)
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(3x—y)(4x+3y—2)
=12x2+9xy—6x—4xy—3y2—2y

=12x2+5xy—6x—3y2—2y
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(1) (a+1)(a+b—1)=a2+ab—a+a+b—1

a?+ab+b—1
(2) (a+2b)(2a+b+1)=2a24+ab+at+4ab+2b2+2b
=2a?+5ab+tat+2b2+2hb
(3) (x+2y—1)(2x—y)=2x2—xy+4dxy—2y2—2x+y

=2x2+3xy—2vy2—2x+y

(4) (x—y+3)(3x—2y)=3x2—2xy—3xy—2y2+9x—6y

=3x2—5xy—2vy2+9x—06y



